

PRELIMINARY ASSESSMENT CALCULATIONS

PROJECT NAME: 2024 Street Improvements (Green Street)
 PROJECT NUMBER: 24-01
 RATES USED: As-Bid (Haas Sons, Inc)
 Assessment Policy Version: 03/18/2024

TOTAL CONSTRUCTION CONTRACT COST \$ 406,117.25

CONTINGENCY (NOT ADDED TO FINAL ASSESSMENTS) 20%
 SPECIAL ASSESSMENT ADMINISTRATIVE RATE 1.5%
 TOTAL 21.5%

TOTAL ESTIMATED ASSESSMENTS TO ALL PROPERTIES \$ 60,605.57

NO.	PROPERTY OWNER NAME	PROPERTY ADDRESS	PARCEL ID	ITEM	UNIT	UNIT PRICE	QUANTITY	TOTAL COST	COST SHARE	TOTAL ASSESSABLE COST	
1	Aaron Smith & Cassandra Smith	724 Green Street	236-1713-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>							
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	80	\$ 240.00	50%	\$ 120.00	
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	80	\$ 1,160.00	50%	\$ 580.00	
				<i>DRIVEWAY - RECONSTRUCTION</i>							
				REMOVE ASPHALT PAVEMENT	SQ YD	\$ 3.00	6.5	\$ 19.50	100%	\$ 19.50	
				PATCH ASPHALT DRIVEWAY	SQ YD	\$ 39.00	8	\$ 312.00	100%	\$ 312.00	
										SUBTOTAL	\$ 1,031.50
										PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 221.77
						TOTAL ESTIMATED ASSESSMENT	\$ 1,253.27				
2	James W Bauer	800 Green Street	236-1714-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>							
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	80	\$ 240.00	50%	\$ 120.00	
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	80	\$ 1,160.00	50%	\$ 580.00	
				<i>DRIVEWAY - RECONSTRUCTION</i>							
				REMOVE CONCRETE SURFACE	SQ YD	\$ 6.00	13	\$ 78.00	100%	\$ 78.00	
				CONCRETE DRIVEWAY APRON - 6 INCH	SQ FT	\$ 8.75	140	\$ 1,225.00	100%	\$ 1,225.00	
										SUBTOTAL	\$ 2,003.00
										PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 430.65
						TOTAL ESTIMATED ASSESSMENT	\$ 2,433.65				
3	Michael J Jarmuz	808 Green Street	236-1715-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>							
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	80	\$ 240.00	50%	\$ 120.00	
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	80	\$ 1,160.00	50%	\$ 580.00	
				<i>DRIVEWAY - RECONSTRUCTION</i>							
				REMOVE CONCRETE SURFACE	SQ YD	\$ 6.00	10	\$ 60.00	100%	\$ 60.00	
				CONCRETE DRIVEWAY APRON - 6 INCH	SQ FT	\$ 8.75	160	\$ 1,400.00	100%	\$ 1,400.00	
										SUBTOTAL	\$ 2,160.00
										PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 464.40
						TOTAL ESTIMATED ASSESSMENT	\$ 2,624.40				
4	Mark Robert and Teresa L Jepperson Rev Trust	816 Green Street	236-1716-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>							
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	80	\$ 240.00	50%	\$ 120.00	
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	80	\$ 1,160.00	50%	\$ 580.00	
				<i>DRIVEWAY - RECONSTRUCTION</i>							
				REMOVE ASPHALT PAVEMENT	SQ YD	\$ 3.00	7	\$ 21.00	100%	\$ 21.00	
				PATCH ASPHALT DRIVEWAY	SQ YD	\$ 39.00	10	\$ 390.00	100%	\$ 390.00	
										SUBTOTAL	\$ 1,111.00
										PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 238.87
						TOTAL ESTIMATED ASSESSMENT	\$ 1,349.87				

PRELIMINARY ASSESSMENT CALCULATIONS

PROJECT NAME: 2024 Street Improvements (Green Street)
 PROJECT NUMBER: 24-01
 RATES USED: As-Bid (Haas Sons, Inc)
 Assessment Policy Version: 03/18/2024

TOTAL CONSTRUCTION CONTRACT COST \$ 406,117.25

CONTINGENCY (NOT ADDED TO FINAL ASSESSMENTS) 20%
 SPECIAL ASSESSMENT ADMINISTRATIVE RATE 1.5%
 TOTAL 21.5%

TOTAL ESTIMATED ASSESSMENTS TO ALL PROPERTIES \$ 60,605.57

NO.	PROPERTY OWNER NAME	PROPERTY ADDRESS	PARCEL ID	ITEM	UNIT	UNIT PRICE	QUANTITY	TOTAL COST	COST SHARE	TOTAL ASSESSABLE COST	
5	Shawn E Duhoux	824 Green Street	236-1717-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>							
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	80	\$ 240.00	50%	\$ 120.00	
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	80	\$ 1,160.00	50%	\$ 580.00	
				<i>DRIVEWAY - RECONSTRUCTION</i>							
				REMOVE ASPHALT PAVEMENT	SQ YD	\$ 3.00	16	\$ 48.00	100%	\$ 48.00	
				PATCH ASPHALT DRIVEWAY	SQ YD	\$ 39.00	18	\$ 702.00	100%	\$ 702.00	
										SUBTOTAL	\$ 1,450.00
										PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 311.75
						TOTAL ESTIMATED ASSESSMENT	\$ 1,761.75				
6	Bohlen Properties LLC	900 Green Street	236-1718-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>							
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	80	\$ 240.00	50%	\$ 120.00	
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	80	\$ 1,160.00	50%	\$ 580.00	
				<i>DRIVEWAY - RECONSTRUCTION</i>							
				REMOVE CONCRETE SURFACE	SQ YD	\$ 6.00	15	\$ 90.00	100%	\$ 90.00	
				CONCRETE DRIVEWAY APRON - 6 INCH	SQ FT	\$ 8.75	160	\$ 1,400.00	100%	\$ 1,400.00	
										SUBTOTAL	\$ 2,190.00
										PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 470.85
						TOTAL ESTIMATED ASSESSMENT	\$ 2,660.85				
7	Emily E Bakken	906 Green Street	236-1719-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>							
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	80	\$ 240.00	50%	\$ 120.00	
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	80	\$ 1,160.00	50%	\$ 580.00	
				<i>DRIVEWAY - RECONSTRUCTION</i>							
				REMOVE CONCRETE SURFACE	SQ YD	\$ 6.00	14	\$ 84.00	100%	\$ 84.00	
				CONCRETE DRIVEWAY APRON - 6 INCH	SQ FT	\$ 8.75	160	\$ 1,400.00	100%	\$ 1,400.00	
										SUBTOTAL	\$ 2,184.00
										PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 469.56
						TOTAL ESTIMATED ASSESSMENT	\$ 2,653.56				
8	Nicholas C Voss	912 Green Street	236-1720-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>							
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	80	\$ 240.00	50%	\$ 120.00	
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	80	\$ 1,160.00	50%	\$ 580.00	
				<i>DRIVEWAY - RECONSTRUCTION</i>							
				REMOVE ASPHALT PAVEMENT	SQ YD	\$ 3.00	4	\$ 12.00	100%	\$ 12.00	
				REMOVE CONCRETE SURFACE	SQ YD	\$ 6.00	2	\$ 12.00	100%	\$ 12.00	
				PATCH ASPHALT DRIVEWAY	SQ YD	\$ 39.00	10	\$ 390.00	100%	\$ 390.00	
										SUBTOTAL	\$ 1,114.00
						PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 239.51				
						TOTAL ESTIMATED ASSESSMENT	\$ 1,353.51				

PRELIMINARY ASSESSMENT CALCULATIONS

PROJECT NAME: 2024 Street Improvements (Green Street)
 PROJECT NUMBER: 24-01
 RATES USED: As-Bid (Haas Sons, Inc)
 Assessment Policy Version: 03/18/2024

TOTAL CONSTRUCTION CONTRACT COST \$ 406,117.25

CONTINGENCY (NOT ADDED TO FINAL ASSESSMENTS) 20%
 SPECIAL ASSESSMENT ADMINISTRATIVE RATE 1.5%
 TOTAL 21.5%

TOTAL ESTIMATED ASSESSMENTS TO ALL PROPERTIES \$ 60,605.57

NO.	PROPERTY OWNER NAME	PROPERTY ADDRESS	PARCEL ID	ITEM	UNIT	UNIT PRICE	QUANTITY	TOTAL COST	COST SHARE	TOTAL ASSESSABLE COST	
9	Wyatt & Victoria Stutzke	918 Green Street	236-1721-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>							
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	80	\$ 240.00	50%	\$ 120.00	
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	80	\$ 1,160.00	50%	\$ 580.00	
				<i>DRIVEWAY - RECONSTRUCTION</i>							
				REMOVE CONCRETE SURFACE	SQ YD	\$ 6.00	10	\$ 60.00	100%	\$ 60.00	
				CONCRETE DRIVEWAY APRON - 6 INCH	SQ FT	\$ 8.75	120	\$ 1,050.00	100%	\$ 1,050.00	
										SUBTOTAL	\$ 1,810.00
										PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 389.15
										TOTAL ESTIMATED ASSESSMENT	\$ 2,199.15
10	Stephen D Lashinski & Jodi L Peterson	1000 Green Street	236-1722-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>							
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	80	\$ 240.00	50%	\$ 120.00	
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	80	\$ 1,160.00	50%	\$ 580.00	
				<i>DRIVEWAY - RECONSTRUCTION</i>							
				REMOVE CONCRETE SURFACE	SQ YD	\$ 6.00	14	\$ 84.00	100%	\$ 84.00	
				CONCRETE DRIVEWAY APRON - 6 INCH	SQ FT	\$ 8.75	205	\$ 1,793.75	100%	\$ 1,793.75	
				<i>SIDEWALK - RECONSTRUCTION</i>							
				REMOVE CONCRETE SURFACE	SQ YD	\$ 6.00	2	\$ 12.00	50%	\$ 6.00	
				CONCRETE SIDEWALK - 4 INCH	SQ FT	\$ 8.50	20	\$ 170.00	50%	\$ 85.00	
						SUBTOTAL	\$ 2,668.75				
						PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 573.78				
						TOTAL ESTIMATED ASSESSMENT	\$ 3,242.53				
11	Comfy Homes LLC	1006 Green Street	236-1723-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>							
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	80	\$ 240.00	50%	\$ 120.00	
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	80	\$ 1,160.00	50%	\$ 580.00	
				<i>DRIVEWAY - RECONSTRUCTION</i>							
				REMOVE ASPHALT PAVEMENT	SQ YD	\$ 3.00	5.5	\$ 16.50	100%	\$ 16.50	
				REMOVE CONCRETE SURFACE	SQ YD	\$ 6.00	2.5	\$ 15.00	100%	\$ 15.00	
				PATCH ASPHALT DRIVEWAY	SQ YD	\$ 39.00	12	\$ 468.00	100%	\$ 468.00	
										SUBTOTAL	\$ 1,199.50
										PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 257.89
						TOTAL ESTIMATED ASSESSMENT	\$ 1,457.39				
12	Craig J Stewart	1012 Green Street	236-1724-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>							
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	80	\$ 240.00	50%	\$ 120.00	
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	80	\$ 1,160.00	50%	\$ 580.00	
				<i>DRIVEWAY - RECONSTRUCTION</i>							
				REMOVE CONCRETE SURFACE	SQ YD	\$ 6.00	9.5	\$ 57.00	100%	\$ 57.00	
				CONCRETE DRIVEWAY APRON - 6 INCH	SQ FT	\$ 8.75	110	\$ 962.50	100%	\$ 962.50	
										SUBTOTAL	\$ 1,719.50
										PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 369.69
										TOTAL ESTIMATED ASSESSMENT	\$ 2,089.19

PRELIMINARY ASSESSMENT CALCULATIONS

PROJECT NAME: 2024 Street Improvements (Green Street)
 PROJECT NUMBER: 24-01
 RATES USED: As-Bid (Haas Sons, Inc)
 Assessment Policy Version: 03/18/2024

TOTAL CONSTRUCTION CONTRACT COST \$ 406,117.25

CONTINGENCY (NOT ADDED TO FINAL ASSESSMENTS) 20%
 SPECIAL ASSESSMENT ADMINISTRATIVE RATE 1.5%
 TOTAL 21.5%

TOTAL ESTIMATED ASSESSMENTS TO ALL PROPERTIES \$ 60,605.57

NO.	PROPERTY OWNER NAME	PROPERTY ADDRESS	PARCEL ID	ITEM	UNIT	UNIT PRICE	QUANTITY	TOTAL COST	COST SHARE	TOTAL ASSESSABLE COST	
13	Jolene M Kohn	1016 Green Street	236-1638-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>							
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	70.5	\$ 211.50	50%	\$ 105.75	
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	70.5	\$ 1,022.25	50%	\$ 511.13	
				<i>DRIVEWAY - RECONSTRUCTION</i>							
				REMOVE CONCRETE SURFACE	SQ YD	\$ 6.00	10	\$ 60.00	100%	\$ 60.00	
				CONCRETE DRIVEWAY APRON - 6 INCH	SQ FT	\$ 8.75	110	\$ 962.50	100%	\$ 962.50	
				<i>SIDEWALK - RECONSTRUCTION</i>							
				REMOVE CONCRETE SURFACE	SQ YD	\$ 6.00	1	\$ 6.00	50%	\$ 3.00	
				CONCRETE SIDEWALK - 4 INCH	SQ FT	\$ 8.50	18	\$ 153.00	50%	\$ 76.50	
										SUBTOTAL	\$ 1,718.88
										PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 369.56
						TOTAL ESTIMATED ASSESSMENT	\$ 2,088.43				
14	Mary Ann Remus	1020 Green Street	236-1633-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>							
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	51	\$ 153.00	50%	\$ 76.50	
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	51	\$ 739.50	50%	\$ 369.75	
				<i>SIDEWALK - RECONSTRUCTION</i>							
				REMOVE CONCRETE SURFACE	SQ YD	\$ 6.00	1	\$ 6.00	50%	\$ 3.00	
				CONCRETE SIDEWALK - 4 INCH	SQ FT	\$ 8.50	10	\$ 85.00	50%	\$ 42.50	
										SUBTOTAL	\$ 491.75
										PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 105.73
						TOTAL ESTIMATED ASSESSMENT	\$ 597.48				
15	Andrew A Vorwald	1025 Green Street	236-1196-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>							
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	122	\$ 366.00	25%	\$ 91.50	
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	122	\$ 1,769.00	25%	\$ 442.25	
				<i>DRIVEWAY - RECONSTRUCTION</i>							
				REMOVE ASPHALT PAVEMENT	SQ YD	\$ 3.00	6	\$ 18.00	100%	\$ 18.00	
				PATCH ASPHALT DRIVEWAY	SQ YD	\$ 39.00	9	\$ 351.00	100%	\$ 351.00	
				<i>SIDEWALK - RECONSTRUCTION</i>							
				REMOVE ASPHALT PAVEMENT	SQ YD	\$ 3.00	1.5	\$ 4.50	50%	\$ 2.25	
				PATCH ASPHALT DRIVEWAY (CATWALK REPLACEMENT)	SQ YD	\$ 39.00	1.5	\$ 58.50	50%	\$ 29.25	
										SUBTOTAL	\$ 934.25
						PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 200.86				
						TOTAL ESTIMATED ASSESSMENT	\$ 1,135.11				

PRELIMINARY ASSESSMENT CALCULATIONS

PROJECT NAME: 2024 Street Improvements (Green Street)
 PROJECT NUMBER: 24-01
 RATES USED: As-Bid (Haas Sons, Inc)
 Assessment Policy Version: 03/18/2024

TOTAL CONSTRUCTION CONTRACT COST \$ 406,117.25

CONTINGENCY (NOT ADDED TO FINAL ASSESSMENTS) 20%
 SPECIAL ASSESSMENT ADMINISTRATIVE RATE 1.5%
 TOTAL 21.5%

TOTAL ESTIMATED ASSESSMENTS TO ALL PROPERTIES \$ 60,605.57

NO.	PROPERTY OWNER NAME	PROPERTY ADDRESS	PARCEL ID	ITEM	UNIT	UNIT PRICE	QUANTITY	TOTAL COST	COST SHARE	TOTAL ASSESSABLE COST
16	William R Salvesson	1011 Green Street	236-1197-01-000	<i>CURB & GUTTER - RECONSTRUCTION</i>						
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	70	\$ 210.00	50%	\$ 105.00
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	82	\$ 1,189.00	50%	\$ 594.50
				<i>DRIVEWAY - RECONSTRUCTION</i>						
				REMOVE CONCRETE SURFACE	SQ YD	\$ 6.00	12	\$ 72.00	100%	\$ 72.00
				CONCRETE DRIVEWAY APRON - 6 INCH	SQ FT	\$ 8.75	175	\$ 1,531.25	100%	\$ 1,531.25
				<i>SIDEWALK - RECONSTRUCTION</i>						
				REMOVE CONCRETE SURFACE	SQ YD	\$ 6.00	2	\$ 12.00	50%	\$ 6.00
				CONCRETE SIDEWALK - 4 INCH	SQ FT	\$ 8.50	20	\$ 170.00	50%	\$ 85.00
								PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 514.66	
								TOTAL ESTIMATED ASSESSMENT	\$ 2,908.41	
17	Thomas Raymond Frank	1003 Green Street	236-1198-01-000	<i>CURB & GUTTER - RECONSTRUCTION</i>						
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	74	\$ 222.00	50%	\$ 111.00
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	74	\$ 1,073.00	50%	\$ 536.50
				<i>DRIVEWAY - RECONSTRUCTION</i>						
				REMOVE ASPHALT PAVEMENT	SQ YD	\$ 3.00	8	\$ 24.00	100%	\$ 24.00
				PATCH ASPHALT DRIVEWAY	SQ YD	\$ 39.00	6	\$ 234.00	100%	\$ 234.00
				CONCRETE DRIVEWAY APRON - 6 INCH	SQ FT	\$ 8.75	115	\$ 1,006.25	100%	\$ 1,006.25
								PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 411.03	
								TOTAL ESTIMATED ASSESSMENT	\$ 2,322.78	
18	Luke Knoble & Elisa Knoble	929 Green Street	236-1199-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>						
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	78	\$ 234.00	50%	\$ 117.00
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	78	\$ 1,131.00	50%	\$ 565.50
				<i>DRIVEWAY - RECONSTRUCTION</i>						
				REMOVE ASPHALT PAVEMENT	SQ YD	\$ 3.00	12.5	\$ 37.50	100%	\$ 37.50
				PATCH ASPHALT DRIVEWAY	SQ YD	\$ 39.00	15	\$ 585.00	100%	\$ 585.00
								PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 280.58	
								TOTAL ESTIMATED ASSESSMENT	\$ 1,585.58	

PRELIMINARY ASSESSMENT CALCULATIONS

PROJECT NAME: 2024 Street Improvements (Green Street)
 PROJECT NUMBER: 24-01
 RATES USED: As-Bid (Haas Sons, Inc)
 Assessment Policy Version: 03/18/2024

TOTAL CONSTRUCTION CONTRACT COST \$ 406,117.25

CONTINGENCY (NOT ADDED TO FINAL ASSESSMENTS) 20%
 SPECIAL ASSESSMENT ADMINISTRATIVE RATE 1.5%
 TOTAL 21.5%

TOTAL ESTIMATED ASSESSMENTS TO ALL PROPERTIES \$ 60,605.57

NO.	PROPERTY OWNER NAME	PROPERTY ADDRESS	PARCEL ID	ITEM	UNIT	UNIT PRICE	QUANTITY	TOTAL COST	COST SHARE	TOTAL ASSESSABLE COST		
19	Hayley I Olson	923 Green Street	236-1200-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>								
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	78	\$ 234.00	50%	\$ 117.00		
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	78	\$ 1,131.00	50%	\$ 565.50		
				<i>DRIVEWAY - RECONSTRUCTION</i>								
				REMOVE ASPHALT PAVEMENT	SQ YD	\$ 3.00	21	\$ 63.00	100%	\$ 63.00		
				PATCH ASPHALT DRIVEWAY	SQ YD	\$ 39.00	7	\$ 273.00	100%	\$ 273.00		
				CONCRETE DRIVEWAY APRON - 6 INCH	SQ FT	\$ 8.75	250	\$ 2,187.50	100%	\$ 2,187.50		
				<i>SIDEWALK - RECONSTRUCTION</i>								
				REMOVE CONCRETE SURFACE	SQ YD	\$ 6.00	2	\$ 12.00	50%	\$ 6.00		
				CONCRETE SIDEWALK - 4 INCH	SQ FT	\$ 8.50	18	\$ 153.00	50%	\$ 76.50		
											SUBTOTAL	\$ 3,288.50
											PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 707.03
											TOTAL ESTIMATED ASSESSMENT	\$ 3,995.53
20	Judy M Gilbert	915 Green Street	236-1201-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>								
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	70	\$ 210.00	50%	\$ 105.00		
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	70	\$ 1,015.00	50%	\$ 507.50		
				<i>DRIVEWAY - RECONSTRUCTION</i>								
				REMOVE CONCRETE SURFACE	SQ YD	\$ 6.00	6	\$ 36.00	100%	\$ 36.00		
				CONCRETE DRIVEWAY APRON - 6 INCH	SQ FT	\$ 8.75	75	\$ 656.25	100%	\$ 656.25		
											SUBTOTAL	\$ 1,304.75
											PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 280.52
							TOTAL ESTIMATED ASSESSMENT	\$ 1,585.27				
21	Andrew J Entenza	909 Green Street	236-1202-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>								
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	69	\$ 207.00	50%	\$ 103.50		
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	69	\$ 1,000.50	50%	\$ 500.25		
				<i>DRIVEWAY - RECONSTRUCTION</i>								
				REMOVE CONCRETE SURFACE	SQ YD	\$ 6.00	19.5	\$ 117.00	100%	\$ 117.00		
				CONCRETE DRIVEWAY APRON - 6 INCH	SQ FT	\$ 8.75	205	\$ 1,793.75	100%	\$ 1,793.75		
											SUBTOTAL	\$ 2,514.50
							PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 540.62				
							TOTAL ESTIMATED ASSESSMENT	\$ 3,055.12				
22	Sarah Faye Aarthun	903 Green Street	236-1203-00-000	<i>CURB & GUTTER - RECONSTRUCTION</i>								
				REMOVE CONCRETE CURB AND GUTTER	LIN FT	\$ 3.00	69	\$ 207.00	50%	\$ 103.50		
				CONCRETE CURB AND GUTTER (D24)	LIN FT	\$ 14.50	69	\$ 1,000.50	50%	\$ 500.25		
				<i>SIDEWALK - RECONSTRUCTION</i>								
				ALLOWANCE (ESTIMATED T&M FOR PAVERS)	LUMP SUM	\$ 400.00	1	\$ 400.00	50%	\$ 200.00		
											SUBTOTAL	\$ 803.75
							PLANNING AND ADMINISTRATION FEE AND CONTINGENCY	\$ 172.81				
							TOTAL ESTIMATED ASSESSMENT	\$ 976.56				

